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Que 1:  Write a 200 word abstract for this paper, bullet points can be used. (8 marks)
Que 2: what is an open-label trial?  (1mark)
Que 3: What do you understand by ‘event-driven’ trial? (1mark)
Que 4:  The following statement is taken from the clinical outcomes section of the paper

 ‘... a hazard ratio of 1.12 (95% confidence interval 0.75 to 1.68, p=0.003 for a one sided noninferiority margin..’
What do you understand by 95% confidence interval?  (1mark)
What does the above statement mean, explain its significance?  (2 marks)
Que 5: Draw a 2*2 table for the ‘any major bleeding episode’ in this study and calculate the odds ratio. (3 marks)

Que 6:  Your colleague asks you if this is something that could be implemented in your hospital. Taking away the financial aspect of the intervention, what would your answer be? Give 3 reasons for your decision.  (6marks)
